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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

76- How close I stand to someone when I am speaking to them ... not only on my
relationship with them but also on my culture.

1) depends 2) it depends
3) which depends 4) to depend

77- On condition that the product doesn’t meet the needs of the market, the company may be forced to
inform all the consumers ... that they can ask for a refund.

1) who has sold it 2) whom it was sold
3) which it was sold to 4) to whom it has been sold
78- If the students ... with the new rules, they can put their concerns in a letter to the Course Director.
1) will disagree 2) were disagreeing
3) disagreed 4) disagree

79- It was the fourth time that my grandfather ... to fix his old car, and it didn’t surprise me that he didn’t
enjoy much success.

1) had tried himself 2) himself had tried
3) has tried him 4) has tried himself

80- A recent survey conducted in Britain found that a number of respondents planned to ... working
because they had concerns about becoming bored if they retired.

1) give up 2) put aside
3) keep on 4) suffer from
81- The passage was really ... and difficult to read mainly because of the large number of missing words.
1) advanced 2) complete
3) incomprehensible 4) uncomfortable

82- As the world’s population grows and the availability of new arable land decreases, providing sufficient
food for the world’s human population is becoming ... difficult.

1) immediately 2) patiently
3) increasingly 4) accidentally
83- Although I asked Jack to drive more slowly, he didn’t take any ..., and the police fined him $75 for
speeding.
1) attention 2) pleasure
3) interest 4) notice

84- Data from the past two years show that the best time to book a/an ... flight for the 2023 holiday season
will be between November and December.

1) domestic 2) countless
3) invisible 4) complicated

85- Experienced psychologists believe that young patients with serious personality ... may be the most
difficult to cure in a short period.

1) sources 2) demands

3) disorders 4) events
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86- After the young child continued to look around the library for a book, the librarian decided to ... her
own favorite book.

1) publish 2) suggest
3) borrow 4) compile

87- Jane once had got lost when her mother took her downtown. But ..., so now Jane stays close to her
mother when they are downtown.

1) absence makes the heart grow fonder 2) a burnt child dreads the fire

3) easy come, easy go 4) out of sight, out of mind
PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

Sharks have been the most feared predators of the ocean. They have been around ...(88)... the time of
dinosaurs. They ...(89)... in oceans all over the world, and they have also been found in some rivers and
lakes. One difference between most other fishes and a shark is that most fishes have bones, but a shark has
cartilage. Cartilage is tough, but it is not ...(90)... a bone. Another difference is that the shark is only
«.(91)... to swim forward, while most fishes can swim forward and backward. Fishes also ...(92)... have
slippery scales, while a shark has rough scales that feel like sandpaper.

88- 1) already 2) since 3) for 4) ever

89- 1) can be found 2) can find 3) can’t be finding 4) can’t find
90- 1) strong 2) the strongest 3) stronger 4) as strong as
91- 1) unique 2) able 3) calm 4) available
92- 1) repeatedly 2) fluently 3) generally 4) probably

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark
the correct choice on your answer sheet.

PASSAGE 1:
Earth Hour is organized by the World Wide Fund for Nature (WWF), and it’s a big event usually at the

end of March every year. On this evening, people all around the world “go dark” — that is, turn off lights in
their homes, schools and businesses all at the same time for one hour.

Earth Hour started in Australia in 2007, when 2.2 million people in Sydney turned off all unnecessary
lights for an hour. It has grown into an international event since then, and many countries around the
world have taken part. Many famous buildings, such as the Eiffel Tower in Paris and New York’s Empire
State Building, have gone dark for Earth Hour. Even astronauts on the International Space Station have
taken part by reducing their power use on the station.

The idea is to raise awareness of environmental issues and call for action to protect nature, so that people
enjoy healthy, happy and sustainable lives now and in the future. It is true that turning off the lights for
just one hour saves only a small amount of power. But, this is only the beginning. Joining Earth Hour
makes people think about the problem of climate change and what they can do in their everyday lives to
protect nature.

93- What is the primary purpose of the passage?
1) To introduce an international event
2) To prove the inaccuracy of a commonly-held view
3) To describe the benefits of saving the environment
4) To compare the effectiveness of two different international events
94- The author has provided all of the following in relation to Earth Hour EXCEPT its ... .
1) history 2) purpose
3) time 4) negative results
95- The word “awareness” in paragraph 3 is closest in meaning to ... .
1) knowledge 2) pollution

3) creativity 4) generation
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96- It can be concluded from the passage that taking part in Earth Hour ... .
1) is something necessary for every single individual living in this ever-changing world
2) can be regarded as a small but positive step towards enjoying happy and sustainable lives
3) is the only way left for humans to solve their environmental issues such as climate change

4) makes people think about the positive effects of electricity and the importance of fossil fuels
PASSAGE 2:

If your reservations are booked far ahead of time, the airline may offer to mail your tickets to you.
However, if you don’t receive the tickets and the airline’s records show that they mailed them, you may
have to go through difficult procedures in order to get your lost tickets. It is better to go to a local travel
agency or airline ticket office and buy your tickets there.

As soon as you receive your tickets, make sure all the information on them is correct, especially the
airports (if any of the cities have more than one), the flight dates, and your personal information. Have any
necessary corrections made immediately. It’s also important to keep in mind that most airlines don’t
permit them to be sold or given to another person. The passenger whose name is shown on the ticket is the
only one whom the airlines allow to use that ticket.

It’s a good idea to reconfirm your reservations before you start your trip because flight schedules
sometimes change. On international trips, most airlines require that you reconfirm your onward or return
reservations at least 72 hours before each flight. If you don’t, your reservations may be canceled.

97- Which is a possible result of not following the advice offered in the first sentence of paragraph 2?
1) You might fly into the right city but the wrong airport.
2) You might miss your flight because the date was improperly recorded.
3) You might not be allowed to board your flight because the name on the ticket doesn’t match the one on your ID.
4) Any of the above could happen as a result of not following the advice.
98- The word “them” in paragraph 2 refers to ... .
1) airlines 2) passengers
3) tickets 4) corrections
99- Which type of reader would benefit the most from reading this article?
1) An experienced business traveler
2) A travel agent
3) A first-time airline passenger
4) A person who is trying to overcome the fear of flying
100-In the final sentence of the passage, the author ... .
1) recommends that the readers reconfirm their reservations at least two days before each flight
2) gives a new piece of advice to the readers who might want to go on an international trip
3) offers a warning of what might happen if the readers do not follow the advice offered in the same paragraph

4) explains that airlines always cancel reservations when the passengers do not reconfirm them
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